
１． （＋８）ー（－７）×（＋２）＝



１． （＋８）ー（－７）×（＋２）＝

２． （＋４）÷（－１５）ー（－４）÷（＋５）＝



１． （＋８）ー（－７）×（＋２）＝

２． （＋４）÷（－１５）ー（－４）÷（＋５）＝

３． （－２）２＋（－３）２＝



１． （＋８）ー（－７）×（＋２）＝

２． （＋４）÷（－１５）ー（－４）÷（＋５）＝

４． （－４）２÷（ー４）３＝

３． （－２）２＋（－３）２＝



１． （＋８）ー（－７）×（＋２）＝

２． （＋４）÷（－１５）ー（－４）÷（＋５）＝

４． （－４）２÷（ー４）３＝

３． （－２）２＋（－３）２＝

５． ５２÷（－４）＋（－２）×（－７）＝



１． （＋８）ー（－７）×（＋２）＝

２． （＋４）÷（－１５）ー（－４）÷（＋５）＝

４． （－４）２÷（ー４）３＝

３． （－２）２＋（－３）２＝

５． ５２÷（－４）＋（－２）×（－７）＝

６． ５×（－２）×（－３）＋（－２６）÷（－２）－１２×（－３）＝



１． （＋８）ー（－７）×（＋２）＝

２． （＋４）÷（－１５）ー（－４）÷（＋５）＝

４． （－４）２÷（ー４）３＝

７． －８＋｛３－（－１３）｝×４ー４２÷（－３）＝

３． （－２）２＋（－３）２＝

５． ５２÷（－４）＋（－２）×（－７）＝

６． ５×（－２）×（－３）＋（－２６）÷（－２）－１２×（－３）＝



１． （＋８）ー（－７）×（＋２）＝

２． （＋４）÷（－１５）ー（－４）÷（＋５）＝

４． （－４）２÷（ー４）３＝

７． －８＋｛３－（－１３）｝×４ー４２÷（－３）＝

８． ー２３＋３×（３ー５）２＝

３． （－２）２＋（－３）２＝

５． ５２÷（－４）＋（－２）×（－７）＝

６． ５×（－２）×（－３）＋（－２６）÷（－２）－１２×（－３）＝



１． （＋８）ー（－７）×（＋２）＝

２． （＋４）÷（－１５）ー（－４）÷（＋５）＝

４． （－４）２÷（ー４）３＝

７． －８＋｛３－（－１３）｝×４ー４２÷（－３）＝

８． ー２３＋３×（３ー５）２＝

３． （－２）２＋（－３）２＝

９． （－１）３２÷（ー１２４）＝

５． ５２÷（－４）＋（－２）×（－７）＝

６． ５×（－２）×（－３）＋（－２６）÷（－２）－１２×（－３）＝



１． （＋８）ー（－７）×（＋２）＝

２． （＋４）÷（－１５）ー（－４）÷（＋５）＝

４． （－４）２÷（ー４）３＝

１０． ｛（＋１３）－（－１３）＋（－１０）＋（＋１６）＋（ー２０）｝×０＝

７． －８＋｛３－（－１３）｝×４ー４２÷（－３）＝

８． ー２３＋３×（３ー５）２＝

３． （－２）２＋（－３）２＝

９． （－１）３２÷（ー１２４）＝

５． ５２÷（－４）＋（－２）×（－７）＝

６． ５×（－２）×（－３）＋（－２６）÷（－２）－１２×（－３）＝


